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CHEMISTRY

BOOKS - MS CHOUHAN CHEMISTRY
(HINGLISH)

AMINES

1. In which of the following reaction cyanide will be

obtained as a major product?

ﬁ (i) LiAlH,
A.Ph—C —-CH; ~— (+)—
(i) HyO
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Answer: C

° Watch Video Solution

NH,

HNO, 5 A (Major)
2.

Product (A) is:
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OH

(a) (5
A.
(b) | '
B.
NH-NO,
(c)
C.
0-NO
o)
D.
Answer: A

[ =
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l &J Watch Video Solution J

3. Which of the following alkene cannot be prepared

by de-amination of n-Butanamine with NaNO, / HCI
?

A. 1-butene

B. cis 2-butene

C. trans-2-butene

D. Iso-butene

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wdliKWR2UWr4
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4. Predict the major product P in the following

reaction:

(b)

7"
B. Me
(© /\/\XMC
C. on
OH
) /\/\/L CH,
D. Me
Answer: A

° Watch Video Solution
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Complete following

NaNOQ,
HyS0, ~ A

(a

v

QL IC

NOw
ROCe

©)

Answer: B

reaction

° Watch Video Solution
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6. Complete the following reaction

l>— CH, - NH, — 2 (A) +
48%

A will be :

OH

47%

A.CH, = CH — C’H — CH;
OH

CH,OH

o A
B.

oA
C.

(d) A
D.
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Answer: B

° Watch Video Solution

7. Which of the following isomers of CgHqNO is the
weakest base?

A. o-Aminoacetophenome

B. p-Aminoacetophenone

C. m-Aminoacetophenone

D. Acetanilide

Answer: D

[ o WAL _ L vl e~_ 0. ]
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8. Rank the following compounds in order of

increasing basic strength. (weakest — strongest)

NI, CI,NIT, NH, NH,
1 2 3 4

Ad<2<1<3

B4<3<1<2

Cd4<1<3<?2

D.2<1<3<4

Answer: B

[ e |
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l & Watch Video Solution J

9. Which of the following arylamines will not form a

diazonium salt on reaction with sodium nitrite in

hydrochloric acid?

A. m-Ethylanilin

B. Pp-Aminoacetophenone

C. 4-Chloro-2-nitroaniline

D. N-Ethyl-2-methylanilne

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BkQKzOqgrGUe
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10. Identify product D in the following sequence:

CHj 1. LAlH,
CHS_é_CHZCHZOH%A%B%C%D
CH,
CHs CH,
(a) CHs\CCHzC =N ®) CH3éCH ,CH,N(CH3)»
‘ |
CH,4 CH,
CH;
|
|
CHs
CH;
|
8. CH; C (CH,CH,N(CH),
!
CHs
CH;
|
C.CH; C (CH,N(CH;),
|
CHs
CH;
|
D.CH, C (CH,) C HN(CHj),
| |
CHj OH
Answer: B

| &~


https://dl.doubtnut.com/l/_355yOYoco60e

[ W Watch Video Solution J

11. Which one of the following is best catalyst for the

reaction shown below?

CH3(CH2)SCHQBT LCN) CH3(CH2)80HQCN

benzene
(a) OCH3C1
A.

CHj,
|
(d) CH,CCH,CHN(CH3 )2
||

B CH, OH

C (o) ©-CH2&(cn3)3cr

O

l
(d) @—NH(ICH;;
D.

Answer: C

[ ° Watch Video Solution
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12. The major product obtained from the following

sequence of reactions are:

CH; Ag0 hea
(CH3),CHCH,N(CH,CHy), — Hg > s products
2

A. (CH3)20HCH2NH2 + H2C — CH2
B.(CH;),NCH,CH; + H,C = C(CH;),

CHs

|
C. (CH3)2CHCH2 N CHyCHj3 + HyC = CH,

+
D. (CH3)3NCH20H3]_ + HyC = CHy

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MYjYtdqF3zsl
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13. Which amine yield N-nitroso amine after treatment

with nitrous acid (NaNO,, HCI)?

(a) @-—CHzNﬂz
A.
B " w:@wz
-0
() @—NHCH3
D.

Answer: D

o Watch Video Solution
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14. Complete the following

H

/ OH HNQ.

NH. ———= s (A) Product (A) 1S

-

H

A. cyclopentane carboxyaldehyde

B. cyclohexane-1,2-diol

C. 2-aminocyclohexene

D. cyclohex-2-enol

Answer: A

reaction

° Watch Video Solution



https://dl.doubtnut.com/l/_5xnfEKuCDhGv
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15. Choose the appropriate product for this reaction.

CN I LA (exeess)

N - ——— prod
/\/ 2,0 product

@ N

A

(b) o~ ~“H2NH,
B.

c © /\/\OH

NH,
@ \/Y

D. NH,

Answer: B

° Watch Video Solution
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16. Which of the following product will be obtained in
the given (consider minor product also) Beckmann-

type rearrangement?

(0]
0 Me  (1)NH,0H,HCl
< - - product
(2)PClg, A
(o)

H
N. Me
(o]
< Y
A. ©
0
Me
B. "< d
(0]
© <
O =N
C. Me

D. None of these

Answer: D



https://dl.doubtnut.com/l/_izRFPGb9fHL7

l ) Watch Video Solution J

17. Deamination (or) diazotization of n-Bu-INH, with
NaNO, | HCI gives...... isomeric butene.

A. 2

B.3

C.4

D.5

Answer: B

0 Watch Video Solution
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4 o o
~ wie o e gy il .
- PR k) = (Hy —C—0—C—CH,;

18. N,

P and Q respectively.
? OH
NH, QNH—?T—CH;

e 1
) o_cn, _C—0—CHs
(b) @ @
NH—C—CH,
Il
0

B. ~NH

OH C—0—CH;

(C) @ ‘ @
NH—C—CH, NH—ﬁ-—CHa
o

C. o

Il
0—C—CH,

OH
@ @ ‘ @
NH—C—CH; ~NH—C—CH,

D A

Answer: D

° Watch Video Solution
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19. A nitrile X is treated with LiAIH, to obtain
compound Y (CyH;N). In a separate reaction X is
hydrolysed in an acid medium to obtain Z. The
product obtained after mixing Y and Z will be :
A.CH;CONCH,CHj;
B.CH;CH,CONHCH,CHj
C. (CH;COO~ (CH;CH,NH;")

D. (CH;CH,COO ™) (CH;NH,')

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cGgo4iE0ivM7
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20. A compound (X) having the molecfular formula
C3HgN reacts with benzenesulphonyl chloride to
form a solild insoluble in alkali is . The compound (X)

is

NHCH,
oY
A.

Answer: A

° Watch Video Solution
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1. Five amine synthesis are outlined below. In each
reactions box enter a single letter designating the
best reagent and conditions selected from the list at

the bottom of the page.

CH, - Br o

[ g CHa - Ca e

\,\_7—)

Second Step | se) U
; I
| First Step [, 'jJ CH
i b ” %
‘ B H Second Step | 7 CHj - "( g
| Thied Step | | ©/ CH,CH,
j r
2 Second Step | |

I NO, MscSien | | N(CHa),
' D. et Seep |
| g Second Step | | ©/
,! First Step | | Q Y
) Sccond Step | |
| Br ————
B. W/\ Third Step | | T
| : Ho o

: Fourth Step |

a)i) LiAlH, in ether, ii) H,O & base

b) CzHg,NHQ (cat. H+)


https://dl.doubtnut.com/l/_KnxRThSCH0pP
https://dl.doubtnut.com/l/_TK53vV9yaKeE

c) NaCN in alcohol

d) Hy & Ni catalyst or Hy & Pd catalyst
e) NaNj3 in alcohol

f) (CH3CO), & pyridine

g) Co H5Br

O

(h) ”

h)

(i) 2CH31 & pyridine

j) KOH in H,O

° View Text Solution



https://dl.doubtnut.com/l/_TK53vV9yaKeE

Solved Problem

1. Outline a synthesis of 4-methylpentanamine using

the Gabriel synthesis.

° View Text Solution

2. Outlined below is a synthesis of the stimulant

amphetamine. Provide the intermediates A and B.

&2

o View Text Solution



https://dl.doubtnut.com/l/_DP0pQijjh0gF
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3. Reductive amination of a ketone is almost always a
better method for the synthesis of an amine of the
type

. than treatment of an alkyl halide with ammonia.

Explain why this is true.

° View Text Solution

4. Show how you might synthesize 2-propanamine
from a three-carbon starting material that is a ketone,

aldehyde, nitrile, or amide.

° View Text Solution



https://dl.doubtnut.com/l/_2oBRPHQOFcxw
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https://dl.doubtnut.com/l/_1kyYFbMJP64l

5. The reaction sequence below shows how a methyl
group on a benzene ring can be replaced by an amino
group. Supply the missing reagents and

intermediates.

&=

o View Text Solution

Single Correct Choice Type

1. Acetamide is treated separately with the following

reagents. Which of these would give methyl amine?

A. PCI


https://dl.doubtnut.com/l/_1kyYFbMJP64l
https://dl.doubtnut.com/l/_gbxWsjoZ0fzn

B. NaOH + Bry

C.Soda lime

D. Hot conc. H,50,

Answer: B

° View Text Solution

2. Best method for preparing primary amines from

alkyl halides without changing the number of carbon

atoms in the chain is

A. Hoffman Bromamide reaction.

B. Gabriel phthalimide synthesis.


https://dl.doubtnut.com/l/_gbxWsjoZ0fzn
https://dl.doubtnut.com/l/_KAC8RPRA3vjQ

C. Sandmeyer reaction.

D. reaction with NHj

Answer: C

° View Text Solution

3. The Gabriel synthesis is a method to generate

primary

A. nitriles

B. acids

C. alkylamines


https://dl.doubtnut.com/l/_KAC8RPRA3vjQ
https://dl.doubtnut.com/l/_Q4zMGQIuycXp

D. aldehydes

Answer: C

° View Text Solution

4. An organic compound A upon reacting with NHj

gives B. On heating, B gives C. C in presence of KOH

reacts with Brs to give CH3sCHyNH,. A is

A.CH,CH,COOH

B. CH;COOH

C. CH;CH,CH,COOH


https://dl.doubtnut.com/l/_Q4zMGQIuycXp
https://dl.doubtnut.com/l/_VMTYSsxmBnss

D.CH; — CH — COOH

|
CHs

Answer: A

° View Text Solution

5. Which one of the following methods is neither

meant for the synthesis nor for separation of amines?

A. Hinsberg method

B. Hofmann method

C. Wurtz reaction

D. Curtius reaction


https://dl.doubtnut.com/l/_VMTYSsxmBnss
https://dl.doubtnut.com/l/_mTsyWk4KAYHa

Answer: C

° View Text Solution

6. Which of the following diazonium salts cannot be

isolated?

A o

_|_
B.Ph— N=N:Cl™
c.l#

D. s’

Answer: A

[ ° L~ ]
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7.Which amine yields N-nitroso amine after treatment

with nitrous acid?

A le

B. Lo

C.lz

D.[#:

Answer: C

° View Text Solution
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8. Amongst the compounds given, the one that would

form a brilliant colored dye on treatment with

NaNQs in dil. HCI followed by addition to an alkaline

solution of B-naphthol is

A e

B. L.

C. e

D. leu

Answer: C

° View Text Solution
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9. The nitrogen atom in the following cyclic
compounds can be removed as trimethylamine by
successive  Hoffmann eliminations  (involving
exhaustive methylation followed by heating with
AgOH). The amine which will require a greater number

of Hofmann eliminations is

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_4TLYrZBhJAgv

10. What will be the final product of the reaction of

cyclohexanamine with sodium nitrite in dil. HCI?

A7

B. Lo

C.lz

D. s’

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_4TLYrZBhJAgv
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11. Which of the following compound is the strongest

base?

A e

B. L

C. e

D. s’

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_q0UKaNx9u0RH

12. Which of the following is least reactive toward

SNA’I"?

A e

B. L

C. e

D. s’

Answer: C

o View Text Solution
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